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QUESTION 1

An administrator managing a vSAN cluster of six-nodes with policy FTT-2/RAID-6 decided to put one of the nodes in
maintenance mode using the “Full-data migration” option. 

What will happen after this action is taken? 

A. The host will enter in maintenance mode and the data will remain accessible until the host exits maintenance mode. 

B. The system will prompt to add an additional host to the cluster in order to preserve the policy compliance. 

C. The host will enter in maintenance mode and only data with no redundancy will remain accessible. 

D. The host will enter into maintenance mode if both components of a certain object are residing on that host, then one
of the components will be moved to another available host. 

Correct Answer: A 

Reference: https://blogs.vmware.com/virtualblocks/2020/02/06/what-happens-vsan-host-in-maintenancemode/ 

 

QUESTION 2

An architect is designing a new Hybrid five node vSAN cluster for a customer who is planning to use vRealize
Automation to provision 600 virtual machines into that cluster, with expected growth up to 1,000 VM. Each VM has a
40GB thick-provisioned disk. 

Which flash disk size is required for the cache tier per ESXi node to meet all requirements? 

A. 400GB 

B. 700GB 

C. 600GB 

D. 800GB 

Correct Answer: D 

 

 

QUESTION 3

A company has engaged a consultant to upgrade an existing vSAN cluster to vSAN 7.0 U1. The company 

wants to ensure that the same vSAN process can be used in the future. 

During the discovery phase, the consultant found the following information about the existing environment: 

The vCenter Server is currently version 7.0. 

The vSAN Cluster has the following configuration:
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 -vSAN version: 7.0

 -Number of vSAN nodes: 6

 -Encryption: enabled

 -Deduplication and Compression: enabled

 -Fault Domains: 1

 -vSAN Capacity Utilization: 60% Each vSAN node has the following configuration:

 -ESXi version: VMware vSphere 7.0

 -CPU: 2 processors, 20 cores

 -RAM: 1024GB RAM.

 -Disk: 2 Cache SSDs and 6 Capacity SSDs

 -Network: 4 x 10GbE All current hardware (which is from a single vendor) is listed on the vSAN Compatibility Guide for
vSAN 7. 

Which three recommendations should the consultant make to ensure that the vSAN cluster upgrade is completed?
(Choose three.) 

A. Upgrade all vSAN nodes to VMware vSphere 7.0 U1 using the baselines capability within VMware Update Manager
(VUM). 

B. Disable vSAN Encryption before starting the upgrade process. 

C. Upgrade all vSAN nodes to VMware vSphere 7.0 U1 using the images capability within VMware Update Manager
(VUM). 

D. Set VMware Distributed Resource Scheduling (DRS) to partially automated. 

E. Upgrade to VMware vCenter Server 7.0 U1. 

F. Choose the Allow reduced redundancy option. 

Correct Answer: A 

 

 

QUESTION 4

An architect needs to automate an infrastructure that supports VMware Horizon as well as VMware Tanzu. Which
solution mandates the use of VMware vSAN? 

A. VMware Cloud Foundation 

B. VMware Horizon 

C. VMware Tanzu 
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D. VMware vRealize Automation 

Correct Answer: D 

Reference: https://www.vmware.com/products/vrealize-automation.html 

 

QUESTION 5

A 4-node vSAN cluster is configured with an erasure coding storage policy. The Ensure Accessibility maintenance mode
was selected. While performing the maintenance, a second node fails. 

What will be the impact on the vSAN cluster? 

A. There will be no impact on performance. 

B. The VMs will no longer be accessible. 

C. The performance will be degraded. 

D. The VMs will be in a suspended state. 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.virtualsan.doc/GUID521EA4BC-
E411-47D4-899A-5E0264469866.html 
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